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SAN-ZH-SA(FA) - NFAY - BES O AF K lOﬁ/l\_Fo” Hlw &2
INESI); 194,842 154,050 40,792
= 1,960
AlHI 29,000
T4l 163,882
Ay o8 177,664 135,616 42,048
= 1,960
AlHI 29,000
-l 146,704
EXN3HE &2 FA 66,824 60,688 6,136
HESAIKIDb & 41,154 35,688 5,466
201 LEH2HH| 28,860 22,932 5,928
01 AtR2teld] 25,110 19,182 5,928
OXIJtE=MN EE22 MA 1,055
=t 70,000 «6IH A *335]*1/2 630
e 2tet 25,0002 1700 2 %23 *1/2 425
ONEXIt BE==+2 19,525
AFE XDt
40,0002 *30,100/(43,000/1, 125)*1.1%1/2 17,325
- 019 &IE 40,0002 1002 XI*50%+ 1.1%1/2 1,100
COJAME 40,000 * 1002 XI *50%+*1. 1%1/2 1,100
OMNESAIXNIL 2ESANE MA HH
702 *30,00000%1. 1x1/2 1,155
OXIJt=MN 22EF 7 3,375
- SANEX 18,000 x50 A x1/2 450
- EU 175,000& *2CH = 53|*1/2 875
-E2H 943 170,000 *10JH*1/2 850
- E2H EX 60,000& *40E+1/2 1,200
02 3223l 3,750 3,750 0
OHESAMAIL ZESKN=2 €5 SR
503 *30,00001*1/2 3,750
202 O 2,700 2,700 0
01 2o 2,700 2,700 0
OMEZAIXIIE Z=AH O1HI 20,0003 «3% »45L 2,700
203 LR =& 400 400 0
03 AMHZ=XHRFAH] 400 400 0
O3AXIIFEAL Al FEZ 400,000& 400
301 LErEAS 9,194 9,656 N462
09 SUAZRRIABLS 9,194 9,656 2462
OXNAHAHAREX 9,194
=1=] 79,5003 «3H x12& 2,862
S 5,000 222 x3H » 122 3,960
- WSHl 2,600 x22L »3H 12 2,060
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HE: NN 7

¢ XE 2el (&9 ®M
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
201 LEH2HH| 1,799 1,577 222
01 AtR2teld] 800 800 0
(OPNESE=E S el 800
AHEY AZE FY 200,000& 200
EXNOISAEM HA M 200,000& 200
JISXNAAMEIA EE22 HH
400,000& * 13 400
02 3323l 999 77 222
OXNE=HY JALL MEEES=
232,350 x2H 465
ogxzgsll =al 4,500,000 *6%* 12 270
og=2es) ZHuH 66,000 43 264
203 ¥R =& 880 880 0
03 AMH=XPRFAH] 880 880 0
OSZEX ZAIHSR AIMFZA 480,000& 480
OXNHYSR AZFA 400,000& 400
NEESEX He 35,000 0 35,000
401 AlEHIZL S8l 35,000 0 35,000
01 Al&HI 35,000 0 35,000
OZd=REXN HlA 35,000,000 35,000
EXCISHE QR L5 2,900 0 2,900
201 LEHRHH| 2,900 0 2,900
01 AtR2teld] 2,900 0 2,900
OEXNoIEH =g 2488 74 2,900
SHLESEX 15,000 x50 A 750
DIRAMEA M 500 *1& 3503 175
ey Ed 175,000 *1CH*73] 1,225
SMI EUH 187,000 1 CH 23] 374
A B 88,000% *1CH 23l 176
oIED ARE 100,000& 1 CH*23] 200
SE2HEFA MY 59, 188 58,356 832
= 1,960
AlHI 25,000
Tl 32,228
CEYEF=A ANEE 1IN 50,000 14,828 35,172
AlHI 25,000
T4l 25,000
201 LEH2HH| 50,000 14,828 35,172
AlHI 25,000
T4l 25,000
01 AtR2teld] 50,000 11,990 38,010
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P EREFA A e M)
I:I}\_I X XH C|—O|(;|j;”) }\.“CIAI,O'I HAXZ A} OH @Lj_l‘:_ =2}
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% ==
OL4dX 2 el 50,000,000& 50,000
AlHI 25,000
4l 25,000
C2IEFAAY AlEES 2 1,960 33,240 231,280
= 1,960
401 Al&HIY 1,960 33,240 A 31,280
= 1,960
01 Al&H| 1,960 33,240 A 31,280
O&=2Y% 2 7ANE= 1,960
&= 980, 0003 »2JH A~ 1,960
= 1,960
EXNFEAAE 22| 7,228 6,778 450
201 LBt A Y| 7,228 6,778 450
01 AFR 22| 2,660 2,660 0
OXN&EEH AsHEI 228 2
2,000,000& 2,000
OS=2EXNTFEAAE SX 2L
66,0002 102 660
02 3234l 4,568 4,118 450
OEXNZSHEEY ATEFNH RANE=> 4,568
SZ2UD/BAUX(SHIIES HBEX])
261,800 x12& 3,142
OlSdo(Z2 0232t AZ &)
81,4003 x12& 977
2IZE E(tlag=2g s )
37,4003 x12& 449
HY2IHH(XHDL) 17,178 18,434 AN1,256
oIed 2| 4,200 4,200 0
oled 2| 4,200 4,200 0
203 HRF&H| 4,200 4,200 0
04 ENBILSFEH| 4,200 4,200 0
ORNMBEHEF=AHI 4,200,000& 4,200
Jl=3&Hl 12,978 14,234 AN1,256
Jl2Z | 12,978 14,234 A 1,256
201 LBt 12,978 13,834 A 856
01 AFR 22l 12,978 13,834 A 856
ORM2IE+=EHI 7,560,000& *90% 6,804
OJI2gf+d =2l 6,174,000 6,174




